
FLAME SHUTTER 
INSTALLATION INSTRUCTIONS

February 2024 Version  5.2



Contents

2

Page: Description

3-6  Product overview
7  Intended use
8  Generic GA
9   Scope of supply
10  Regulations and safety advise
11  Technical data
12  Preparation for installation
13  Face �x guides
14   Reveal �x guides
15-17   Installation
18  Motor limit adjustment
19  Hood installation
20  Commissioning check list
21  Service and repair
22-23  Operation and maintenance
24  Service records
25  Pro mate quick setup guide
26  SF1 quick setup guide
27  SFP quick setup guide



SWS UK SeceuroFire Flame Shutter

Product overview:

The product is a 75mm steel slatted vertically operating motorised shutter;end plates, hoods & fascias, guides and axles are all constructed
from steel.

Desired application:

The product is designed in accordance with BS EN 13241-1:2014+A1:2018, and BS EN 16034:2014, and as such is suitable for installation as a
�re resisting shutter. The shutter should be speci�ed in situations by which the primary goal is to o�er �re compartmentation and/or escape
routes. The shutter can also be used as a doorway on a normal ‘day-to-day’ basis but all risk assessments must be completed by the
commissioner/installer on completion.

Applicable standards: BS EN 13241-1:2014+A1:2018 (see DoP), and BS EN 16034:2014 (see DoP and below for detail);

Below is an extract of the DoP for the �re characteristics only, see speci�c DoP for each integrity rating for all details.

Installation compliance:-

The installation of a Fire Shutter must be in accordance with local building regulations, if in doubt information should be sourced via
www.gov.uk/government/publications/�re-safety-approved-document-b.

• Fire Shutters must comply with the relevant teststandard and ce marking requirements; BS EN 16034:2014.
• Fire Shutters in compartment walls must be openable and close-able manually by �re �ghters, without the use of a ladder.
• Fire Shutters on escape routes must only be activated by a local heat sensor.
• Fire Shutter on escape routes should not present undue delay or complexity.
• It is the responsibility of the installer, building manager and respective �re o�cer to ensure that the �nal installationis adequately

risk assessed in consideration of the building type and use, as well as applicable standards BS EN 13241 and BS EN 16034, and local
Building Regulations.

• The SWS UK Fire Shutter is only permitted to be installed into appropriate masonry or steel work as detailed below
• The shutter will not closein the event of cable breakage, please ensure that the cables are adequately protected

• The shutter will not close in the event of a mains power failure, the BBU will sound for approximately 2minutes then will power
down into hibernation mode (the BBU willremain active for a period, however the display panel should be monitored for mains
supply and reported to the appropriate building manager).

Essential Characteristics Declared Performance Harmonised Standard

Resistance to �re E30/60/120/240

BS EN 16034:2014

Smoke Control(only for applications
where limitation of smoke spread is
required)

NPD

Ability to release Released
Self-closing(only for self closing �re
resistance and/or smoke control
doorsets and/or openable windows)

C

Durability of ability to release NPD

Durability of self-closing NPD

Speci�cTechnical Documentation:

WF 413395
Fire resistance test in accordance with BS EN 1634-1:2014+A1:2018 on an
uninsulated asymmetrical, exposed face �xed rolling shutter doorset

WF 415113 Extended application report in accordance with BS EN15269-10:2011

WF 415114
Classi�cation of �re resistance performance in accordance with EN 13501-
2:2016

1121-CPR-CE-RA-500 Certi�cate of constancy of performance

This symbol represents critical
health and safety information

3



Installation statement:

Certi�cation of the SWS UK Fire Shutter has been obtained via practical testing undercontrolled conditions, to ensure the integrity of the Fire
Shutter is maintained the substrate, supporting structures/subframes, geometry and �xings used must be equal too, or greater those
speci�ed by SWS UK– it is the installers responsibility to ensure this information is obtained prior to installation to ensure compliance.

Technical Speci�cation and Installation Considerations:

Operation:-

• Tubular motor within the barrel assembly, featuring limit setting and thermal trip to preventoverheating.
• Draw 240 volts, a 13 amp fuse spur must be available for installation.
• The product will feature a safety brake with interlock facility.

Controls and battery back-up:-

• Key switch control.
• Installation and commissioning must be completedwith the SWS UK supplied controllerand battery-back up.
• The BBU must be wired directly to a 240 volt mains supply.
• The controller must be wired to the �re alarm system (locally or building).
• The Fire Shutter installation must be checked weekly to ensure theoperation of the BBU and alarm system are working correctly.
• The BBU will monitor the mains supply, this must be checked weekly via the digital display.
• The BBU will hold power capable of closing the product on alarm activation for a maximum of 30days from removing from a mains

supply– although this must be avoided on identi�cation vie weekly checks.
• The Fire Shutter will automatically closed on receipt of a �re alarm signal, the installer must ensure that an adequate risk assessment

has been completed as this will contravene BS EN 13241– photocells are available to o�er protection, however o�er no
performance guarantees in the event of a �re and may be inhibited by smoke/�re, and may inhibit the ability to close (should the
photocellbe blocked forexample).

• Audio/Visual warning is needed locally at the Fire Shutter when the product closes on receipt of a �re alarm signal, this can be
through the existing building �re system or via a device connected to the control panel

Survey considerations whenordering:-

• Is there access to a 240 volt mains supply.
• Is there access to a �re alarm system – if not consider additional alarms/controls from SWS UK.
• Has a building manager/�re o�cer been involved in assessing the risk of the product, and it’s use.
• Is there adequate substrates; steel or masonry (see overleaf for detail).
• Do you have theminimum�xings required(see overleaf for detail) – if not �xing kits are available from SWS UK.
• Is an axle cradle required– if so 200mm space above the top of end plate is required, and allowance for ‘face-�tting’ to a structure.
• Is the ‘�at side’ of the box exposed– if so a SWS UK fascia is required.
• Can the shutter be manually operated from ground level by the override– a manual override crook will besupplied exiting from the

‘coil side’ as standard.

Minimum �xing requirements:-

• Guide angle and end plates too structure:-
o Masonry: M8 x 70mm Fisher FSA-S 10mm sleeve anchors, with steel and nylon washers
o Steelwork: M8 bolt length to suit parent steelwork, with steel and nylon washers
o Some integrity ratings and sizes deem larger �xings necessary, check your accessory pack if unsure

• Axle cradle, hood and fascia:-
o Masonry: M6 x 70mm Fisher FSA-S 8mm sleeve anchors, with steel and nylon washers
o Steelwork: M8 bolt lengthto suit parent steelwork, with steel and nylon washers

Minimum substrate requirements:-

• Masonry substrate:-

o Masonry to have equal to or greater density than 1600kg/m3

4

o Thickness to be greater than or equal to 102.5mm.
All conditions must be met: 

Density to be greater than or equal to 1600kg/m^3.o



o Blind; 6mm thick steel (tapped)

Detailed installation requirements:

Structure �xings:-

o Rigid Supporting Structure
 For ridged supporting construction M8 grade 4.6 (10mm sleeves) or greater sleeve anchor bolts may be used.
 A rigid supporting construction is considered to be masonary and to have equal to or greater density than 1600

kg/m3 and thickness of 102.5mm.

o Protected Structural Steel



Vertical expansion, Fire Shutter box:-
o Minimum fixings required:-

 Masonry: M6 x 70mm Fisher FSA-S 8mm sleeve anchors, with steel and nylon washers
 Steelwork: M8 bolt lengthto suit parent steelwork, with steel and nylon washers

o If the ‘�at side’ of the box is exposed, even partially, and not ‘face-�xed’ behind and adequate structure a steel fascia
supplied by SWS UK in mandatory

o The top of the end plate must have 50mm of free space left above to allow for vertical expansion:-
 When �tting to the structure upwards (reveal) the hood will extend 50mm beyond the end plate , s ee Fig.A below

for detail
 When �tting in the reveal above, a cover piece will be provided to seal the gap to the side of the end plate, if a

seal is not provided the installer must ensure the gap is securely sealed with minimum 1.5mm thick steel and
adequate �re retardant sealant

;

Fig.A

Steel cover
piece to seal

5



For non-blind applications a M8 4.6 grade or greater nut and bolt may be used, and the supporting steel 
must be equal to or greater than the supporting angle thickness (5mm). 
For blind applications the structure may be tapped if it is greater than or equal to 6mm in thickness and a 
M8 grade 4.6 bolt is used.  

o Steel sub frames
Cladding over steelwork; the end user is to risk assess and determine the suitability of cladding, and 
addess whether it would be considered detrimental to the integrity of the �nished installation.   



All conditions must be met: 

o Protected Structural Steel





A/V must be less than 230m^-1
Fire protection system to maintain the steel temperature at 400 degree C or less

 Fixings used to secure the door to the structural steel shall be in accordance with Annex B & to be fabricated 
from steel and designed not to reduce �re performance of the steelwork �re protection system in ambient
conditions or in �re conditions. 
Information for points 1 & 2 can be supplied from the supplier of the structural substrate. 
Structural �xings speci�ed in the “Detailed installation requirements” section. 



For non-blind applications a M8 4.6 grade or greater nut and bolt may be used, and the supporting steel 
must be equal to or greater than the supporting angle thickness (5mm). 



For blind applications the structure may be tapped if it is greater than or equal to 6mm in thickness and a 
M8 grade 4.6 bolt is used.  



All conditions must be met: 



SWS UK, SeceuroFire Flame ShutterDetailed Technical Speci�cation Document
Revision.7
Date; 13.02.20

Fig.C; when �tting within the reveal an additional steel angle will be supplied

• Axle support cradle:-
o Minimum fixings required:-

 Masonry: M6 x 70mm Fisher FSA-S 8mm sleeve anchors, with steel and nylon washers
 Steelwork: M8 bolt lengthto suit parent steelwork, with steel and nylon washers

o Depending on the protection rating requirement and size, an axle cradle may need to be installed around the box, see Fig.B
below;

o Axle cradles require 200mm above the top ofthe endplate, and must be ‘face �xed’ to the structure

• Guide angle and end plate �xing:-
o The product is design and tested to be�tted to masonry and steelwork only
o The guide angles and end plates must be a�xed to the structure using the following:-

 Masonry: M8 x 70mm Fisher FSA-S 10mm sleeve anchors, with steel and nylon washers
 Steelwork: M8 bolt length to suit parent steelwork, with steel and nylon washers
 Some integrity ratings and sizes deem larger �xings necessary, check your accessory pack if unsure

Fig.B;

Minimum M8 x 70mm Fisher
FSA-S 10mm sleeve anchors,
with steel and nylon washers

Masonry: Minimum M6 x 70mm Fisher FSA-S 8mm
sleeve anchors, with steel and nylon washers

Steelwork: M8 bolt lengthto suit parent steelwork,
with steel and nylon washers

Masonry: Minimum M6 x 70mm Fisher FSA-S
8mm sleeve anchors, with steel and nylon
washers

Steelwork: M8 bolt lengthto suit parent
steelwork, with steel and nylon washers

Minimum M8 bolt length to suit
parent steelwork, with steel and
nylon washers

6 



–

–

–
–
–
–
–
–

–
–
–
–

–

–

–
–
–
–
–

–
–
–
–

–

–
–
–

–

–

7



50

19
0

O
/A

ll 
H

ei
gh

t

A-AA

A
Between g uides

O/All guide and angles

O
/A

ll 
H

oo
d

H
ei

gh
t

Box D epth

Bo
x

H
e

ig
ht

20 20

50AA50 50

O/All Box L ength

C
le

ar
 O

pe
n

in
g 

H
ei

gh
t

H
e

ig
ht

 to
 U

nd
er

si
de

 o
f H

ou
si

ng

Min edge dist ance 75mm

75 0.71

87

17

0.91

87

17

CD75 20 GAUGE
SLAT

CD75 22 GAUGE
SLAT

T-SECTION
BOTTOM SLAT

68

Face �xing (Inset Angle)Face �xing (outset Angle) Reveal �xing

8



Fig. 1

9



Regulations

10



Technical data

30 Min 60 Min 120 Min 240 Min
Minimum width back of angle mm 955 955 955 955
Maximum width back of angle mm 5710 5710 5210 2700
Minimum height top of endplate mm 960 960 960 960
Maximum height top of endplate mm 4700 4700 4700 2750
Curtain Gauge SWG 22 22 22/20 22/20
Curtain Weight /M2 Kgs 11 11 13 16
Guide depth mm 65-100 65-100 65-100 65-100
Motor Voltage V 230V – 50Hz AC 230V – 50Hz AC 230V – 50Hz AC 230V – 50Hz AC
Motor Ampage A 4 4 4 4
Operation temperature °C -20 to 70 -20 to 70 -20 to 70 -20 to 70
Motor IP Rating IP 44 44 44 44
Motor speed RPM 9-16 9-16 9-16 9-16

Fire Rating
DESCRIPTION Unit

11



B

A

12



Face �xing the shutter

13



Reveal �tting shutter

Fit the main �xing angle to the structure using recommended �xings and prepare to bolt the second angle to
the main �xing angle using M8 Nuts & Bolts.
Once you have bolted the angles together �x the Endplate to the second angle with the M8 Nuts and Bolts
provided

Nylon washer

Steel washer

Once the angles and end plates are �tted on one side you must �t the facia before you �t the
opposite side. The facia must �xed upwards allowing 50mm for expansion.
Once you have completed this you can then slide the axle in place.

14



Fit access panel to endplate, ensure endplate compo-
nents are aligned. Use a 5mm drill to drill through 
second skin of access panel at the predetermined 
locations

15



16



Ensure the correct channel is selected from origional removal,

Fix guides with CSK screws from accessory pack.

17



Reduce travel in this direction

Direction of axle rotation

Increase travel in this direction

Limit adjuster

Override exit

Limit adjusting tool

18

Manual override must be installed after hood placment.



19



CONTROLS

Fitted

Fitted

Fitted

Fitted

20



Service and spares

7 Service and spares

�

�

8 Fault �nding and diagnosis

8.1 Fault �nding

21



22



23



SERVICE 01 SERVICE 02

SERVICE 0 SERVICE 0

SERVICE 0 SERVICE 0

SERVICE 0 SERVICE 0

SERVICE 0 SERVICE 



ProMate 

3 CORE (0.5MM)
CONTROL CABLE

KEY- SWITCH

WAKE UP / CONTROL OPTION
FIRE SIGNAL (NORMALLY OPEN
VOLT FREE CONTACT - SUPPLIED
BY OTHERS)

13 Amp, 230v 50Hz
FUSED SPUR

MOTOR CABLE
(SUPPLIED WITH MOTOR)

TUBE MOTOR

C13 POWER LEAD
WITH PLUG

(SUPPLIED WITH BBU)

(SUPPLIED WITH BBU)

ProMate

  Pro Mate
Control panel 

180x220x55mm
   IP20

Network Cable

Wiring key for ProMate:

T1: Motor live 1
T2: Motor live 2
T3: Earth
T4: Neutral

T7: Mains Neutral (From BBU)
T8 Mains earth (From BBU)
T9: Mains Live (From BBU)

T10: Switch / Alarm Neutral
T11: Switch / Alarm close
T12: Switch open

T13 Link to T14 (Optional stop switch)
T14 Link to T13
T15 Link to T16 (Safety brake common when required)
T16 Link to T15 Safety brake

Full technical 
setup guide link.

Quick setup guide

25



3 CORE (0.5MM)
CONTROL CABLE

KEY- SWITCH

WAKE UP / CONTROL OPTION
FIRE SIGNAL (NORMALLY OPEN
VOLT FREE CONTACT - SUPPLIED
BY OTHERS)

13 Amp, 230v 50Hz
FUSED SPUR

MOTOR CABLE
(SUPPLIED WITH MOTOR)

TUBE MOTOR

C13 POWER LEAD
WITH PLUG

(SUPPLIED WITH BBU)

(SUPPLIED WITH BBU)

SF1

Batt 3.6V only

Power manager interface pane l

LED1 LED2 LED3 LED4 LED5 LED6

ON

1 2 3 4

Wiring key for SF1
L1: Motor live 1
L2: Motor live 2
    : Earth
N3: Neutral

L: Mains input (From BBU)
    Mains earth (From BBU)
N: Mains Neutral (From BBU)

COM: Switch / Alarm Neutral
CLO: Switch / Alarm close
OPN: Switch open

T11 Link to T12 (Optional stop switch)
T12 Link to T11 
T13 Link to T14 (Safety brake when required)
T14 Link to T13 

1

ON

2 3 4 5

1

ON

2 3 4 5

1

ON

2 3 4 1

ON

2 3 4

1

ON

2 3 4 1

ON

2 3 4

FU
SE

FU
SE

Motor Input Saftey Door Controls

A
L2

A
L1

CLO

O
PN

STP

CO
M

IM
P

24V

TST

SIG

0VN
3

L2L1

DOOR RUN

Run timer Set-up

Options

DOOR RUN

L
N

RADIO

RADIO

FI
RE

 R
EL

AY

A
LA

RM
 M

O
D

U
LE

COMN/ON/C

T1 T2 T3 T4 T5 T6 T7 T8

Requires N/O contact with 6,8K 
resistor, Input T3, T4.

Fire

ON

1 2 3 4

Dip 2
O� N/O
On N/C

ON

1 2 3 4

Dip 2
O� N/O
On N/C

Full technical 
setup guide link.

Quick setup guide

26



SFP

Full technical 
setup guide link.

Quick setup guide

Batt 3.6V only

Power manager interface panel

LED1 LED2 LED3 LED4 LED5 LED6

ON

1 2 3 4

T1 T2 T3 T4 T5 T6 T7 T8

Requires N/O contact with 6,8K
resistor, Input T3, T4.

ON

1 2 3 4

Dip 2
O� N/O
On N/C

Zone 1 PEC Zone 2 Solenoid Aux 2 Aux 1 Motor Input Keyswitch Reset

sounderExt 24v DCInt BBuInt BBUPower

53 52 51

3 CORE (0.5MM)
CONTROL CABLE

KEY- SWITCH

WAKE UP / CONTROL OPTION
FIRE SIGNAL (NORMALLY OPEN
VOLT FREE CONTACT - SUPPLIED
BY OTHERS)

13 Amp, 230v 50Hz
FUSED SPUR

MOTOR CABLE
(SUPPLIED WITH MOTOR)

TUBE MOTOR

C13 POWER LEAD
WITH PLUG

(SUPPLIED WITH BBU)

(SUPPLIED WITH BBU)

Wiring key for SFP
9 Motor live 1
10: Motor live 2
51: Earth
52: Neutral

L: Mains input (From BBU)
E Mains earth (From BBU)
N: Mains Neutral (From BBU)

3: Switch / Alarm Neutral
6: Switch / Alarm close
4: Switch open

5 (Optional stop switch)

WAKE UP / CONTROL OPTION
FIRE SIGNAL (NORMALLY OPEN
VOLT FREE CONTACT - SUPPLIED
BY OTHERS)

2 16 5 4 310 9 8 713 12 1116 15 1419 18 1722 21 2025 24 2328 27 26

Ext 24v DC sounder Ext lampInt Ext

27



dtLKUSWS


